CATTLEMAN INSTALLATION SHEET

1P : ""l.l'
2015 Suburban 1500 Part # 1141

Installation Kit:

b-1" x1-1/2" Bolt G5 2=5/16" x 1" Bolt G5

B— 15" Nut 2-5/16" Nut

B — %" Lock Washer 2 -5/16" Lock Washer
12 = 4" Flat Washer 2 =5/16" Flat Washer
Instructions:

STEP 1 - On the front factory bumper on the center ther«is a plastic trim. Need to cut out an opening where
tow hook should be to allow mounting bracket through.

STEP 2 — Put bracket on to the frame and bolt on bolts on the side and on the bottom frame.
STEP 3 — Put grill guard on the outside and on the bottorn of frame bracket and bolt on.
STEP 4 = Check alignment and tighten bolts.

STEP 5 — You may need to periodically retighten the bolts.

Passenger
Bracket

Driver
Bracket

S L L e L B L - - o i
F X e i 4 5 e = S e
™ . o — ] 3
B fougin, i e ! \L
i o TN
[ | ] ' o . 2
" -

n




